SEOUL PUBLIC TRANSPORTATION REFORM MO1
[ MODULE 1]

Hello, my name is Joon-Ho Ko from Seoul Institute.
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Today I'm going to talk about Seoul public transportation reform.
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Currently I'm working for those Seoul institute,
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the think-tank over the Seoul Metropolitan Government.
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There, I'm in the position of research fellow in the field of Transportation.
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In this lecture I would like to talk about Seoul transportation,
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focusing on Seoul public transportation reform.
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For this I would like to talk about Seoul transportation status at first,
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then I'm going to talk about elements of the reform,
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then we are going to try to understand why such a reform was needed at that

time,
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and how such a reform was implemented.
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Then we are going to look over major outcomes of the reform,
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and then we are going to examine future policy directions
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toward a sustainable transportation system for our cities.
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Now I'm going to talk about Seoul transportations status.
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As you know Seoul is a big city with 10 million people.
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Its population density is about 17,000 people per square kilometer.
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This is quite a big number.
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In Seoul, about three million cars are registered
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and 22 percent of lands are used for roads
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In the sector of public transit a metro system of more than 300 kilometers are
operated

&S ZOFM= 300km O|&e| EAEEYF 2D JASLLC
and for the buses about seven thousand vehicles are operated.
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Additionally more than 70,000 taxis are operated in Seoul.
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We evaluate these 70,000 taxis are quite enough for satisfying the citizen mobility

needs.
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In addition to this subway system in Seoul,
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regional railway systems are operated by Korea railway companies.
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This expansion and this size of public transit system is
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quite good compared to any other cities in the world.
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Here, T would like to talk about changes or population and the number of
vehicles.
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Here, we can see the big increase of vehicle population and the population of
Seoul.
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For example, in 1950 the population size of Seoul is only two million,
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but now it's 10 million.
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So the population size has increased about five times.
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More interestingly we need to look at the vehicle population size.
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Here, you can see this sharp increase of vehicle population.
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For example if we compare the vehicle size, I mean the vehicle population size,
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actually the vehicle population increase about 2,200 percent from 1980 to present.
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So this is quite a big number of increase rate.
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Because of this population increase and vehicle population,
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actually we could not avoid severe traffic congestion.
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So because of that situation, transportation policy became an important area of
the policies.
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But still, the number of vehicles is increasing
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although increase the rate is less than one percent.
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However, the population size is stable around 10 million.
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Subway system is an important mode of public transportation.
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This subway system started to operate since 1974.
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As 7.8 kilometers of line number one was completed.
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Generally we divide this subway construction into three phases.

YR o2 NI EAIME M2 3EZ 2R

The phase one covers from line number to line number four
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And the phase one construction was completed in the mid-1980s.
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For the phase two, the phase two covers from line number five to line number
eight.
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This phase two construction started from 1980 and it took about 10 years for the
completion.
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Most recent system is the phase three.
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This phase three includes line number nine and Ui-Sinseol line
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In addition to this, we have regional railways.
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So combining this Seoul metro system and regional railways,
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actually Seoul citizens are enjoying this public trans services.

Mz ME A2 tHERES #Ed & 0|85t AL

Here, it would be very interesting to see the trend of transportation mode share.
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In the past, bus was the most predominant mode of transportation.
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For example, during the 1970s about or more than 70 percent of the citizens
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actually used the buses for their trips.
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However bus mode share became lower and lower.
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At the time of 1997 the mode share of bus was surpassed by the subway.
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Probably there are two reasons why the bus mode share decreased like this.
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The first one is that private cars were more available to the citizens with
economic development,
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so the higher income level actually made citizens to easily get private cars.
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The other reason is that, as I explained before
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the subway system actually has expanded
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so buses could not compete with the subway system.
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Here I would like to emphasize the public transit mode share.
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Here, currently the subway system is the most frequently used the mode of
transportation,
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its mode share is about 39 percent.
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The bus mode share is about 27 percent
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so here I would like to suggest to add these two numbers,
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then you can get 66% of this public trans mode share.
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This means that 66 percent of the Seoul citizens' trips are made by this public

transit.
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Again, because of this, the public transit is a really important mode of
transportation and the life of the Seoul citizens.
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Here we need to note traffic congestion cost.
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This traffic congestion cost is the social cost
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including travel time lose, tailpipe emissions,
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and accidents likely to be incurred by traffic congestion.
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It is known that the estimated traffic congestion cost in Seoul is
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about a eight billion US dollar every year.
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So this is quite big number and big amount.
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So we need to take this amount very seriously
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so without reducing this traffic congestion cost,
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actually every citizen cannot enjoy their life with this kind of public transit
systems.
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In my opinion probably the improving the public transit services
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may be the best way to reduce the traffic congestion cost in Seoul.
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